Component Fit fraction %) Phase [rad]
D1(2420) S-wave 3.8+ 1.7+£0.8%0%  —1.96+0.16 +0.107) 37

D1(2420) D-wave 7T1.0+4.4+46700 0 (fixed)

D1(2430) S-wave 142425424750 40.1440.11 +0.137995
D1(2430) D-wave 0.5+0.9+1.5702 —2.99+0.42 +0.8470 22
D3(2460) 1.7+ 14408709  +3.14+£0.11 £0.14150%
Dy (2550) 2.3+0.8+0.7102  —2.2440.21 £0.2670 52
D3 (2600) 484+ 1.0+09%50 +0.3240.16+£0.167037
D5(2740) P-wave 0.4+04+02507 —0.02+0.56 +0.3270 20

D5(2740) F-wave

2.34+0.740.9757

0.08
—0.09 £0.27 £ 0.2175°9%

Sum of fit fractions ‘ 111.0 £ 5.2+ 4.2



